BRESO0 Air scrap remover

BRE50 =5 ERHRENEE

R

BORDIGNON

|'{;

< wovement |

.. N
\\t

Masiel: BRESO
P (min - max): 3 - 6 bar
Mast load: 58 Kg

v by
e T feR =

Where innovation happens / SlIFi &4 21

FEBERBFTR: www.bordignon.com



X\

BRE AIR SCRAP REMOVER / BRE50 5 EkHRnNSE

Grease fitting

: ry
( | e
\ ! ( ] Threaded holes to fix the scrap
«m% ?N‘E‘K‘ﬁ“ i SR shooter with screws
& 1 | [
“ ! . €. ? ( BRIREE,
' BORDIGNON
2 Compressed air in
| / | - = momn ‘ e
~ MOVEMENT - S u
! ;‘Q: s e e ‘ \Q
W
|

100% Made in Italy
100%=AFHEER=m

R—

fixing holes (M8)

4
TR (EFMBIZE)

Sensor BRE-CD*

WEM2EBRE-CD*

Frequency adjuster

SRERIETI 1)

*Optional device

s pice S



BRE AIR SCRAP REMOVER / BRE50 =5 ERHRHNEE

Why choose BRE50?

S 243%EBRES0?

BRES0 AIR SCRAP REMOVER

The BRE 50 works only by compressed air. The scrap
shooter, by moving quickly back and slowly forward ,
makes the scrap to move ahead. Made to remove scraps
inthedies forcuttingandtotransport metalcomponents,
it is also used in many other fields: general metal dies,
plastic dies, mechanical industry, food, pharmaceutical,

packaging industry and assembly industry.

BRE50 =S EFHRENZE

BRESORFEEMHE=SEIA LIE, BEwmalarREREH
E@E 55, (F% T EREERE.
HERITRATERERANERERRE, URSESH
E’JEHULO BEMREER, ZRHER, T, R
TR ET. SEfAETIINMET ZA,

Characteristics BRE50455a

— Compact dimensions; - {RFR/NIT;

—  Max load (scrap shooter included): 50 kg; —  GESARNASOKG;

— Supply fluid: filtered compressed air, not lubricated, not damp; — TYENER: =S 0mKS

— Working pressure (bar): Min 3 / Max 6; _ THEEA(E): BE3E / ?%]68

— Working temperature: Min 0°C (32°F) / Max 60°C (140°F);
— Mounting inclination: Min 0° / Max -45°;
— Sound level dB (A): 60.

AIR CONSUMPTION (AT 4 BAR WITH 25 KG LOAD) /
TREFBEUBES, 25KGHREMiI)

SMP 30 60

L/min 04 08

—  BEEE &E0°C(32°F) / &=60°C(140°F);
-  LEAE &R0/ &5-45%

—  IREE 605N
90 200 400
12 25 45



BRE AIR SCRAP REMOVER / BRE50 =5 ERHRFNEE

Benefits of BRESO0

BRESORI{LE

Extra powerfull and super compact, the scrap remover has many HmammnEy, /NHIFR!

advantages in technical aspects and in convenience of use. It combines HEF ZHMASARBTIRENZBE, (FSBRESOESERE. ZBiE
superior performance, versatile application and great reliability. et —8.

—  Reduced height (27 mm); — WEZESER/mm);

— Minimal air consumption; - NS S,

—  Resistance to uneven loads; — AERSRE

- Capable of transportation on downhill and even surfaces; — S a T

— Easy assembly and use; _ UL

— Easy frequency regulation in small spaces; . %ﬁ%i@%/ﬁ?ﬁ@%;

— One scrap remover unit can support multiple scrap shooters.

. —  —EZ(—EBRESOHHIZSNNBRIR);
— Low initial cost.

—  (BREA/ARRA

HOW CAN THE SCRAP REMOVER BE USED?

anfEIfsERR?

Device that allows the transport of materials through a vibrating pneumatic system. It
has very small dimensions. It can be also used in uncomfortable situations of scraps
evacuation. Scrap shooters with different dimensions can be applied, depending on
application needs.

RrReIgR R — MEERMN SIS, TSR GIRE [,
BRESOFT 5 ==iaNtk/)N, EEMIBATAAEMIERE L (ISR EEM).
BRI RIESE, AIRIEEZ SRR AR E R TS,



BRE AIR SCRAP REMOVER / BRE50 =5 EklRnNSe

Fields of application

Rz I

The technical characteristics of the BRE50 make it suitable for a wide
range of use:

— Removing scraps from stamping dies;

— Metal components transport;

—  Separation and sieving of different elements
(e.g. small metal parts);

— Mechanical industry;

— Food industry;

— Pharmaceutical industry;

— Automation.

PRESS DIE APPLICATION / 4 EA&EE N F7~ 51

BRESOB BAIRAYS B EAE R Z S AR FE:

— HEERERREI;

- EEFHEE

— FEAFHNHEES BB N ENEES);
- T

- Bl

- BEml

- BTl

Press die

HEER

Scraps

=R

Scrap shooter

BRHR

BRES0

BRES0



BRE AIR SCRAP REMOVER / BRE50 Z=5 fEiHRnNSE

BRE standard model

BRE#R/ERY
=~ © T 1 4 &
il [[] =L
1518 g
27 100 2 M6
2 M6
25 / i *\ J—O>

JM ) & A O o 7 k;
) Air out (04) :l:m € g

N frequency = =l

Aol adjustment @ @ :

HS0(@4)
TERSE | || (88 <
Air in (06) ]

) = H 5
> HSH(26) © Max stroke 9 © ©
(0] 4 M6x10 o _;g ?

L e BETE 9 o] B V

S
2
14.5 2 175 =

BRE50-125 125 95 20
BRE50-145 145 105 27
BRE50-195 195 155 0

Alldimensions in mm / Download DWG - DXF files and 3D drawings from: www.bordignon.com




BRE AIR SCRAP REMOVER / BRE50 =5 ERHRHNEE

BRE50 WIDTH 125 / BRE50-125(125MMES[E)

4 M6x10 fixing screws for scrap shooter
49M6-10 IBRIRZZIRLFL

4 M6 fixing screws for brackets to weld
(STASAL-125)

ANMEBFHREIRE E (V2 42) IR B
(STASAL-125)

BRESO0 WIDTH 145 / BRE50-145(145MMZE[E)

4 Mbx10 fixing screws for scrap shooter
41-M6-10 B RMRZEEIRLFL

4 M6 fixing screws for brackets to weld
(STASAL-145)

ANM6BRIMR E] e RE (1R Le4tRsrL
(STASAL-145)

BRES0 WIDTH 195 / BRE50-195(195MMZES[E)

4 M6x10 fixing screws for scrap shooter

APM6-10 IBRHRZIRIREFL

4 M6 fixing screws for brackets to weld
(STASAL-195)

ANMEBFIREIREEE (2 H) IR B
(STASAL-195)




BRE AIR SCRAP REMOVER / BRE50 Z=5 fEiHRnNSE

BRE special models

BREY REIS

What is the model to choose? The one with the more similar ZEIS 0!

ABRIISZ)ARE, BFMREESEE !

dimensions A and B to the scrap shooter that you will use.

[ AT At
27 |1 | o
25 [
15 |18 2 M6
[T | @ ® ® 100 f ® @ ® | + i
(e % 70 ﬁ
2M6 Air out (04)
frequency &) ,%, ©
o adjustment :I: o
k) / HEO(@4) o= — @
ST —
@ -] A & g Q vl wl <«
© 4 Air in (06) ]
ok HSO(@D6 L T @& 121
o)} ZH(@e) @ Max stroke 9 { & <)
I EA1TTE9
4 M6x10 o b= =
O
Z g 4085 ;
® ® ©® ®@ ® ©® @
| |45 s 14.5 |
175
BRES0 130-175 130 175 - - 115 95 3.0
BRES0 130-250 130 250 215 = 15 95 31
BRES0 130-350 130 350 315 215 15 95 33
BRE50 150-175 150 175 = = 135 105 31
BRE50 150-250 150 250 215 - 135 105 32
BRE50 150-350 150 350 315 215 135 105 EX
BRE50 200-175 200 175 - - 185 155 3.4
BRE50 200-250 200 250 215 - 185 155 EX
BRES0 200-350 200 EL) 315 215 185 155 3.8



BRE AIR SCRAP REMOVER / BRE50 =5 ERHRzNEE

BRE50 WIDTH 130 / BRE50-130(130MMZE[E)

BRES0 WIDTH 150 / BRE50-150(150MMEEE)

BRE50 WIDTH 200 / BRE50-200(200MMZE[E)

Alldimensions in mm / Download DWG - DXF files and 3D drawings from: www.bordignon.com



BRE AIR SCRAP REMOVER / BRE50 Z=5 fEiHRnNSE

Greater safety thanks to
BRE-CD sensor

BRE-CD: faEHHRIIZ2RE

The BRE scrap remover is a necessary component in the BREEFHRsNEE =P Eg A~ e/ DB ES, (BEX
stamping process but it can also pose risks: if it stops FHEMEFZL, DARAFENK: —BEEEILET, 2
working, the scraps keep gathering and may cause Br[EE NARBEN B SR ERIMZ R IRIA,

damages to the tools.

N
(O
;o =
S =
I~
[\
/
{
PN < /h.
NEN ¢
b S

10



BRE AIR SCRAP REMOVER / BRE50 =5 klRnNSe

HOW IT WORKS / BRE-CDE28Ma] T{EH?

BRE-CD is a sensor that detects when the scrap remover
stops during the production process and gives an alert signal
by an alarm connected to it.

The sensor can only be installed on special BRE models
(more information about special models on page 8).

BRE-CD2—MEREE, —BBRESOELLET, e BN E
SEARIRELSIRE,
BRE-CDRAEZLAETEBRESORIY RALS £ (T RELSIENSESRT)

A

Wrong production process

RS ETERR

The BRE-CD sensor signals anomaly by
an alarm connected to it

BRE-CDAAHIES, SZERAIRERRE

Advantages of the sensor

BRE-CDY5iM 45

— Easy installation;

— Time adjustment;

— Low voltage;

— Connectable to external devices;
— Functioning led;

— Alarm led;

— Automatic reset;

— Ingress Protection Code: IP67.

-  ZEZME

—  ENREER

- EHRE

— TREOGIEREER),
—  LEDINB™ERMT;

- REERT

-  BEE

- PHHP<E2%: IP67.



BRE AIR SCRAP REMOVER / BRE50 =5 fEiHRnNS:

How It works

BRE-CDE24Ma T{FRY?

The BRE-CD (1) sensor is factory calibrated in order
to give an alarm signal when the BRES0 (3) stops for
more than 0.2 seconds. Set time of 0.2 seconds may be
increased up to maximum 2 seconds. In case of alarm,
the BRE-CD (1) sensor sends a signal which can be
connected to any device.

After an alarm has occurred and once the problem has
been solved, the alarm output is automatically reset
after 3 sec.

. BRE-CD SENSOR / BRE-CD4llE4 22
’ SIDE BRACKETS / {llljZz2E42

‘ BRES0 / BRESOERHRANSE

BRE-CD EXTERNAL CONNECTION /
BRE-CD JM&iZEsE

|y L 18+26VDC
out [2K gy (Out 50 mA MAX)
0

i T _
@ Time setting [N w0~ 0 +

Electric diagram / EBEZ[E]

12

BRE-CD()2— 1B FTR/ENKNIZE, HRFHREDEE
BRESOQ)ELLIRENEBIN0.2s, BISAHIRE(SS,

YRS AT LM FZERN0.2siRERIRA2s., — B8R
ERENEE, BRE-CD()FisAHES, BITERKIR
ZREIRE,

SNREPERERR, BRESOREIEEI(E, 3sSEiRZEESS
SRR,

1)) m



BRE AIR SCRAP REMOVER / BRE50 =5 ERHRzNEE

How to order a BRE50 with BRE-CD sensor and side brackets /
WA T T S BRE-COFIMILZ E LN EBERE?

BRE50-130-175-CD
BRE50-130-250-CD
BRE50-130-350-CD
BRE50-150-175-CD
BRE50-150-250-CD
BRE50-150-350-CD
BRE50-200-175-CD
BRE50-200-250-CD

BRE50-200-350-CD

How to order a set made of the BRE-CD sensor and side brackets /

an{alER iR T M BRE-CDAOMIZ 345

BRE50-125 BREKIT-CD130-SB175
BRE50-145 BREKIT-CD150-SB175
BRE50-195 BREKIT-CD200-SB175

How to order a BRE-CD sensor /

SN{aI BRI T I BRE-CD i 2%

BRE50-130-175 BRE-CD130
BRE50-130-250 BRE-CD130
BRE50-130-350 BRE-CD130
BRE50-150-175 BRE-CD150
BRE50-150-250 BRE-CD150
BRES0-150-350 BRE-CD150
BRE50-200-175 BRE-CD200
BRE50-200-250 BRE-CD200
BRE50-200-350 BRE-CD200

13



BRE AIR SCRAP REMOVER / BRE50 Z=5 fEiHRnNSE

Fixing and use instructions

R fERRREA

- Fix the scrap remover with 4 screws on a solid base. On the -

special models BRES0 130-..., disassemble the side brackets to

reach the fixing holes; —

— Connect the inlet pipe of the compressed air (2 6 mm);
— Fix the scrap shooter on the scrap remover. The greater the

inclination of the scrap shooter or scrap remover, the lower the —
air comsumption; —

— The scrap remover begins to move when the compressed air is on;

- Adjust the pressure of the compressed air (3-6 bar). Lower
pressure will lead to lower air consumption;

- Adjust the frequency. Lower frequency will lead to lower air
consumption. See video on www.bordignon.com;

— NOTE: air pressure reducer, air inlet pipe, fixing screws and scrap
shooter are not included. Contact your local dealer.

Instructions ol

FR4IZIE S BRESOBIERI— MBI = xE £, MNREY R
S, TEARRULRERS

BAESE© 6 mmSE),

LEERR, BRMREEBRESOREH A —EMFRESL, =
SiHFEEmE)Y

BSEFREERED

AJLIEEESSER-68), ENMEESEFEEM)Y
BILAEERADINER, SMEsRmSiEFESEy

5EE: EREARHAE, HKIIREE, ENETRLAR SR
IRFNZiRez, IFRICE, BHRASAIER.

— Use filtered dry air, without oil; —

— Use a suitable scrap shooter (embossing shooting plate) for

oily scraps; —

— Lubricate every month, when working 24 hours per day;
— Lubricate every 3 months, when working 8 hours per day;
— Use a lubricant grease for bearings;

— Put lubricant into the 2 grease fittings until it is full.

FIXING OF THE SCRAP SHOOTER WITH SCREWS / it EE Bt res

v )

BERRKSBERE, RIEEESS TSRS
ZHEMFIEBEERBER(ER MR B HRRE);
24H/R TR, BEATBIT—XEBE

8H/RIfE, BEE3TBITIXERE
BEMAEBE

BT HAE.

The number of fixing screws depends ¥ ¥
on the model you choose

Standard model
TR

Special model

EREENATIEENES %

7R

n WARNING: SIZE OF THE SCRAP SHOOTERS n

In the standard model BRESO, the maximal width and length

s BHHERT
IREBRESORTBRIRBA KB A B S REEEX,

of the scrap shooters depend on their thickness. Excessively large T ARYBER AT BEIE Ry £ R A RRIREI B & R R HREIM G AR
scrap shooters may cause vertical or wave-like vibrations that prevent BHBRER, REXMERE, 55% M —RAI%ERG,

the correct removal of scraps. In such cases, refer to the assembly
examples shown on the next pages.

14



BRE AIR SCRAP REMOVER / BRE50 =5 ERHRHNEE

EXAMPLE OF ASSEMBLY OF ONE LONG SCRAP SHOOTER WITH TWO SCRAP REMOVERS IN SERIES /
HEKIBEIRIE AN

Max load 100 kg / A% 100KG

@4 Red, same lenght
¥ T EGAHSERRIEERRE

06Blue @
ERO6HSE

BRE50-125

BRE50-125

Air out
H5O
Valve to adjust the frequency

Supply with air (filtered,
not lubricated) from 3 to 6 bar
BANRKDBENEREES,

EHSOEES-68

ASSEMBLY OF THE SCRAP SHOOTER WITH SCREWS ASSEMBLY OF THE SCRAP SHOOTER WITH STAW BRACKETS
LEERIR B AR E R LR R

Weld
=

1 set staw (4 brackets)
ANEEEATE

S %4
Va .'t- ) -“” 7
BRE50-125 #

EXAMPLES OF ASSEMBLY IN PARALLEL OF MULTIPLE SCRAP SHOOTERS AND MULTIPLE SCRAP REMOVERS /
ZiBRIRA IR

Max load 100 kg / &AL 100KG

15



A
IES1EEY)Z

BORDIGNON SRL
Via Volta, 20 - 36028 Rossano Veneto (VI) Italy

T +39 0424 36157 - F+39 0424382359 M E R KL E ©
bordignon@bordignon.com

DISTRIB!._J_TOR
Z4HRS

File: Bordignon BRE EN-CN 0121

BEWEGT

PRODUCTION/TECHNICAL OFFICE RS www.ahp.de
Via Volta, 2 - 36028 Rossano Veneto (VI) Italy Suzhou Merkle Hydraulic System Co., Lid.
T +39 0424 540311 GHTRERRRREZRABRLA
b.simone@bordignon.com Phone: +86 512 6296 9386

Fax: +86 512 6855 5327
Bordignon Srl reserves the right to make modifications Mobile: +86 150 1385 6625

Email: info@ahpmerklechina.com

to the technical data of this catalogue, without prior notice.

_ _ H . www.ah klechina.
Bordignon Srl {REEXIR B SEGARBIRHHTIESHOIF), 1R STiEs0. el it

e
n
c
o
c
o0
S
2
S)
m
N
N
o
~N
©)

Find our products catalogues online - T fEFRATIZ F 7= & H 3% www.bordignon.com



